



February 3, 2026

**AWARD NOTICE
BL139-25
Resurfacing of Residential County Roads on a Term Contract**

Pursuant to the bids received on December 12, 2025 for BL139-25, Resurfacing of Residential County Roads on a Term Contract, the bid has been awarded to The Scruggs Company d.b.a Sunbelt Asphalt Surfaces, Inc. in the amount of \$43,928,265.95. Please note the enclosed bid tabulation.

We appreciate your bid and interest in Gwinnett County.

Sincerely,

Michael Milstein

Michael Milstein
Purchasing Associate II

MM/km

Enclosure

BID TABULATION

Page 1 of 6

BL139-25
 Resurfacing of Residential County Roads on a Term Contract
 Department of Transportation

District 1			Allied Paving Contractors, Inc. (OC)		Blount Construction Company, Inc. (L)		East Coast Grading, Inc. (L)		E.R. Snell Contractor, Inc. (L)		Magnum Paving (OC)		MHB Paving, Inc. (OC)		Summit Construction & Development, LLC (L)		The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	18,700 Tons	\$121.95	\$2,280,465.00	\$117.52	\$2,197,624.00	\$128.50	\$2,402,950.00	\$118.00	\$2,206,600.00	\$122.00	\$2,281,400.00	\$144.30	\$2,698,410.00	\$120.00	\$2,244,000.00	\$144.00	\$2,692,800.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL 1)	100 Tons	\$130.00	\$13,000.00	\$120.68	\$12,068.00	\$127.00	\$12,700.00	\$118.00	\$11,800.00	\$140.00	\$14,000.00	\$186.73	\$18,673.00	\$115.00	\$11,500.00	\$144.00	\$14,400.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$160.00	\$16,000.00	\$122.87	\$12,287.00	\$128.00	\$12,800.00	\$150.00	\$15,000.00	\$145.00	\$14,500.00	\$186.73	\$18,673.00	\$125.00	\$12,500.00	\$144.00	\$14,400.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	3,179 Tons	\$128.50	\$408,501.50	\$108.01	\$343,363.79	\$120.00	\$381,480.00	\$132.00	\$419,628.00	\$125.00	\$397,375.00	\$276.81	\$879,978.99	\$108.00	\$343,332.00	\$125.00	\$397,375.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	6,204 Tons	\$192.50	\$1,194,270.00	\$129.02	\$800,440.08	\$162.00	\$1,005,048.00	\$222.00	\$1,377,288.00	\$165.00	\$1,023,660.00	\$273.43	\$1,696,359.72	\$150.00	\$930,600.00	\$153.00	\$949,212.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	3,384 Tons	\$125.75	\$425,538.00	\$119.47	\$404,286.48	\$127.00	\$429,768.00	\$123.00	\$416,232.00	\$153.00	\$517,752.00	\$150.11	\$507,972.24	\$118.00	\$399,312.00	\$100.00	\$338,400.00
7	Manhole Adjustment	516 Mile	\$1,075.00	\$554,700.00	\$1,004.25	\$518,193.00	\$800.00	\$412,800.00	\$1,060.00	\$546,960.00	\$1,350.00	\$696,600.00	\$1,250.00	\$645,000.00	\$1,150.00	\$593,400.00	\$100.00	\$51,600.00
8	Water Valve Adjustment	30 Each	\$1,020.00	\$30,600.00	\$695.25	\$20,857.50	\$800.00	\$24,000.00	\$1,000.00	\$30,000.00	\$1,075.00	\$32,250.00	\$1,000.00	\$30,000.00	\$850.00	\$25,500.00	\$100.00	\$3,000.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$2.75	\$1,375.00	\$15.00	\$7,500.00	\$10.00	\$5,000.00	\$8.30	\$4,150.00	\$10.00	\$5,000.00	\$7.50	\$3,750.00	\$5.00	\$2,500.00	\$8.00	\$4,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	180,480 Sq.yds.	\$2.50	\$451,200.00	\$2.76	\$498,124.80	\$2.15	\$388,032.00	\$2.90	\$523,392.00	\$2.50	\$451,200.00	\$3.13	\$564,902.40	\$5.09	\$918,643.20	\$1.00	\$180,480.00
11	Asphaltic Rubber Crack Fill	23 Miles	\$9,075.00	\$208,725.00	\$8,300.00	\$190,900.00	\$10,000.00	\$230,000.00	\$8,960.00	\$206,080.00	\$8,750.00	\$201,250.00	\$10,000.00	\$230,000.00	\$8,000.00	\$184,000.00	\$8,500.00	\$195,500.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Material and Tack Coat	2,992 Tons	\$130.50	\$390,456.00	\$123.54	\$369,631.68	\$135.00	\$403,920.00	\$140.00	\$418,880.00	\$148.50	\$444,312.00	\$158.11	\$473,065.12	\$130.00	\$388,960.00	\$125.00	\$374,000.00
13	Full Depth Reclamation (FDR)	5,000 Sq.yds.	\$3.25	\$16,250.00	\$6.50	\$32,500.00	\$5.00	\$25,000.00	\$10.35	\$51,750.00	\$9.00	\$45,000.00	\$5.97	\$29,850.00	\$18.00	\$90,000.00	\$5.00	\$25,000.00
14	Soil-Cement Base	125 Tons	\$265.00	\$33,125.00	\$193.74	\$24,217.50	\$250.00	\$31,250.00	\$227.00	\$28,375.00	\$275.00	\$34,375.00	\$302.25	\$37,781.25	\$320.00	\$40,000.00	\$240.00	\$30,000.00
TOTAL			\$6,024,205.50	\$5,431,993.83		\$5,764,748.00		\$6,256,135.00		\$6,158,674.00		\$7,834,415.72		\$6,184,247.20			\$5,270,167.00	

km

BID TABULATION

Page 2 of 6

BL139-25
 Resurfacing of Residential County Roads on a Term Contract
 Department of Transportation

District 2			Allied Paving Contractors, Inc. (OC)		Blount Construction Company, Inc. (L)		East Coast Grading, Inc. (L)		E.R. Snell Contractor, Inc. (L)		Magnum Paving (OC)		MHB Paving, Inc. (OC)		Summit Construction & Development, LLC (L)		The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asph. Conc.- including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	17,700 Tons	\$124.50	\$2,203,650.00	\$137.00	\$2,424,900.00	\$130.50	\$2,309,850.00	\$130.00	\$2,301,000.00	\$125.75	\$2,225,775.00	\$148.45	\$2,627,565.00	\$124.00	\$2,194,800.00	\$143.00	\$2,531,100.00
2	9.5mm Recycled Asph. Conc.- including Bituminous Material, Lime and Tack Coat (SP Type I, BL 1)	100 Tons	\$154.50	\$15,450.00	\$133.81	\$13,381.00	\$129.00	\$12,900.00	\$130.00	\$13,000.00	\$140.00	\$14,000.00	\$188.59	\$18,859.00	\$115.00	\$11,500.00	\$143.00	\$14,300.00
3	4.75mm Recycled Asph. Conc.- including Bituminous Material and Tack Coat	100 Tons	\$160.75	\$16,075.00	\$139.91	\$13,991.00	\$133.00	\$13,300.00	\$145.00	\$14,500.00	\$145.00	\$14,500.00	\$188.59	\$18,859.00	\$125.00	\$12,500.00	\$143.00	\$14,300.00
4	19mm Recycled Asph. Conc.- including Bituminous Material and Tack Coat	3,009 Tons	\$134.50	\$404,710.50	\$116.17	\$349,555.53	\$121.00	\$364,089.00	\$150.00	\$451,350.00	\$129.00	\$388,161.00	\$278.74	\$838,728.66	\$110.00	\$330,990.00	\$125.00	\$376,125.00
5	12.5mm Recycled Asph. Conc. Patching - including Bituminous Material and Tack Coat	7,120 Tons	\$196.50	\$1,399,080.00	\$151.66	\$1,079,819.20	\$165.00	\$1,174,800.00	\$310.00	\$2,207,200.00	\$165.00	\$1,174,800.00	\$274.60	\$1,955,152.00	\$150.00	\$1,068,000.00	\$150.00	\$1,068,000.00
6	Recycled Asph. Conc. Leveling- including Bituminous Material, Lime and Tack Coat	3,204 Tons	\$130.00	\$416,520.00	\$137.96	\$442,023.84	\$129.00	\$413,316.00	\$134.35	\$430,457.40	\$149.00	\$477,396.00	\$153.92	\$493,159.68	\$118.00	\$378,072.00	\$100.00	\$320,400.00
7	Manhole Adjustment	311 Mile	\$1,075.00	\$334,325.00	\$1,023.75	\$318,386.25	\$800.00	\$248,800.00	\$1,145.00	\$356,095.00	\$1,375.00	\$427,625.00	\$1,250.00	\$388,750.00	\$1,200.00	\$373,200.00	\$100.00	\$31,100.00
8	Water Valve Adjustment	40 Each	\$1,020.00	\$40,800.00	\$708.75	\$28,350.00	\$800.00	\$32,000.00	\$1,090.00	\$43,600.00	\$1,100.00	\$44,000.00	\$1,000.00	\$40,000.00	\$860.00	\$34,400.00	\$100.00	\$4,000.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$2.75	\$1,375.00	\$15.75	\$7,875.00	\$10.00	\$5,000.00	\$8.80	\$4,400.00	\$10.00	\$5,000.00	\$7.50	\$3,750.00	\$5.00	\$2,500.00	\$8.00	\$4,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	174,440 Sq.yds.	\$2.55	\$444,822.00	\$3.33	\$580,885.20	\$2.15	\$375,046.00	\$3.20	\$558,208.00	\$2.25	\$392,490.00	\$3.10	\$540,764.00	\$5.25	\$915,810.00	\$1.00	\$174,440.00
11	Asphaltic Rubber Crack Fill	22 Miles	\$9,075.00	\$199,650.00	\$8,715.00	\$191,730.00	\$10,000.00	\$220,000.00	\$9,700.00	\$213,400.00	\$8,750.00	\$192,500.00	\$10,000.00	\$220,000.00	\$8,250.00	\$181,500.00	\$8,500.00	\$187,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Materials and Tack Coat	2,832 Tons	\$141.50	\$400,728.00	\$144.81	\$410,101.92	\$141.00	\$399,312.00	\$148.00	\$419,136.00	\$160.00	\$453,120.00	\$170.59	\$483,110.88	\$130.00	\$368,160.00	\$131.00	\$370,992.00
13	Full Depth Reclamation (FDR)	5,000 Sq.yds.	\$3.25	\$16,250.00	\$6.20	\$31,000.00	\$5.00	\$25,000.00	\$11.00	\$55,000.00	\$9.00	\$45,000.00	\$5.97	\$29,850.00	\$18.00	\$90,000.00	\$5.00	\$25,000.00
14	Soil-Cement Base	125 Tons	\$265.00	\$33,125.00	\$204.51	\$25,563.75	\$250.00	\$31,250.00	\$240.00	\$30,000.00	\$275.00	\$34,375.00	\$302.25	\$37,781.25	\$320.00	\$40,000.00	\$240.00	\$30,000.00
TOTAL			\$5,926,560.50		\$5,917,562.69		\$5,624,663.00		\$7,097,346.40		\$5,888,742.00		\$7,696,329.47		\$6,001,432.00		\$5,150,757.00	

km

BID TABULATION

Page 3 of 6

BL139-25
Resurfacing of Residential County Roads on a Term Contract
Department of Transportation

District 3			Allied Paving Contractors, Inc. (OC)		Blount Construction Company, Inc. (L)		East Coast Grading, Inc. (L)		E.R. Snell Contractor, Inc. (L)		Magnum Paving (OC)		MHB Paving, Inc. (OC)		Pittman Construction Company (OC)		Summit Construction & Development, LLC (L)		The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	18,900 Tons	\$127.50	\$2,409,750.00	\$118.47	\$2,239,083.00	\$127.50	\$2,409,750.00	\$130.00	\$2,457,000.00	\$127.25	\$2,405,025.00	\$148.81	\$2,812,509.00	\$136.75	\$2,584,575.00	\$118.00	\$2,230,200.00	\$144.00	\$2,721,600.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL 1)	100 Tons	\$158.50	\$15,850.00	\$121.10	\$12,110.00	\$126.00	\$12,600.00	\$130.00	\$13,000.00	\$140.00	\$14,000.00	\$188.59	\$18,859.00	\$136.75	\$13,675.00	\$110.00	\$11,000.00	\$144.00	\$14,400.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$160.00	\$16,000.00	\$124.65	\$12,465.00	\$128.00	\$12,800.00	\$145.00	\$14,500.00	\$145.00	\$14,500.00	\$188.59	\$18,859.00	\$159.15	\$15,915.00	\$125.00	\$12,500.00	\$144.00	\$14,400.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	3,213 Tons	\$139.00	\$446,607.00	\$110.38	\$354,650.94	\$121.00	\$388,773.00	\$149.00	\$478,737.00	\$127.00	\$408,051.00	\$278.57	\$895,045.41	\$128.25	\$412,067.25	\$110.00	\$353,430.00	\$123.00	\$395,199.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	6,270 Tons	\$205.00	\$1,285,350.00	\$130.88	\$820,617.60	\$161.00	\$1,009,470.00	\$310.00	\$1,943,700.00	\$167.00	\$1,047,090.00	\$273.26	\$1,713,340.20	\$296.35	\$1,858,114.50	\$150.00	\$940,500.00	\$149.00	\$934,230.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	3,420 Tons	\$130.95	\$447,849.00	\$121.17	\$414,401.40	\$126.00	\$430,920.00	\$135.00	\$461,700.00	\$148.00	\$506,160.00	\$155.59	\$532,117.80	\$132.05	\$451,611.00	\$117.00	\$400,140.00	\$100.00	\$342,000.00
7	Manhole Adjustment	330 Mile	\$1,072.50	\$353,925.00	\$1,004.25	\$331,402.50	\$800.00	\$264,000.00	\$1,145.00	\$377,850.00	\$1,375.00	\$453,750.00	\$1,250.00	\$412,500.00	\$1,051.00	\$346,830.00	\$1,200.00	\$396,000.00	\$100.00	\$33,000.00
8	Water Valve Adjustment	50 Each	\$1,020.00	\$51,000.00	\$695.25	\$34,762.50	\$800.00	\$40,000.00	\$1,090.00	\$54,500.00	\$1,100.00	\$55,000.00	\$1,000.00	\$50,000.00	\$888.00	\$44,400.00	\$850.00	\$42,500.00	\$100.00	\$5,000.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$2.75	\$1,375.00	\$15.00	\$7,500.00	\$10.00	\$5,000.00	\$8.80	\$4,400.00	\$10.00	\$5,000.00	\$7.50	\$3,750.00	\$3.00	\$1,500.00	\$5.00	\$2,500.00	\$8.00	\$4,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	182,400 Sq.yds.	\$2.75	\$501,600.00	\$3.06	\$558,144.00	\$2.15	\$392,160.00	\$3.20	\$583,680.00	\$2.25	\$410,400.00	\$2.90	\$528,960.00	\$3.04	\$554,496.00	\$5.07	\$924,768.00	\$1.00	\$182,400.00
11	Asphaltic Rubber Crack Fill	23 Miles	\$8,690.00	\$199,870.00	\$8,500.00	\$195,500.00	\$10,000.00	\$230,000.00	\$9,275.00	\$213,325.00	\$8,500.00	\$195,500.00	\$10,000.00	\$230,000.00	\$8,135.00	\$187,105.00	\$7,900.00	\$181,700.00	\$8,500.00	\$195,500.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Materials and Tack Coat	3,024 Tons	\$150.00	\$453,600.00	\$124.04	\$375,096.96	\$142.00	\$429,408.00	\$150.00	\$453,600.00	\$152.00	\$459,648.00	\$167.86	\$507,608.64	\$150.80	\$456,019.20	\$128.00	\$387,072.00	\$128.00	\$387,072.00
13	Full Depth Reclamation (FDR)	5,000 Sq.yds.	\$3.50	\$17,500.00	\$6.77	\$33,850.00	\$5.00	\$25,000.00	\$11.00	\$55,000.00	\$9.00	\$45,000.00	\$5.97	\$29,850.00	\$18.30	\$91,500.00	\$18.00	\$90,000.00	\$5.00	\$25,000.00
14	Soil-Cement Base	125 Tons	\$265.00	\$33,125.00	\$204.51	\$25,563.75	\$250.00	\$31,250.00	\$245.00	\$30,625.00	\$275.00	\$34,375.00	\$302.25	\$37,781.25	\$230.00	\$28,750.00	\$320.00	\$40,000.00	\$240.00	\$30,000.00
TOTAL				\$6,233,401.00		\$5,415,147.65		\$5,681,131.00		\$7,141,617.00		\$6,053,499.00		\$7,791,180.30		\$7,046,557.95		\$6,012,310.00		\$5,283,801.00

km

BID TABULATION

Page 4 of 6

BL139-25
Resurfacing of Residential County Roads on a Term Contract
Department of Transportation

District 4			Allied Paving Contractors, Inc. (OC)		Blount Construction Company, Inc. (L)		East Coast Grading, Inc. (L)		E.R. Snell Contractor, Inc. (L)		Magnum Paving (OC)		MHB Paving, Inc. (OC)		Summit Construction & Development, LLC (L)		The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	24,000 Tons	\$122.00	\$2,928,000.00	\$121.83	\$2,923,920.00	\$128.50	\$3,084,000.00	\$119.00	\$2,856,000.00	\$125.00	\$3,000,000.00	\$151.18	\$3,628,320.00	\$120.00	\$2,880,000.00	\$154.00	\$3,696,000.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL 1)	100 Tons	\$152.50	\$15,250.00	\$124.61	\$12,461.00	\$127.00	\$12,700.00	\$119.00	\$11,900.00	\$140.00	\$14,000.00	\$186.73	\$18,673.00	\$125.00	\$12,500.00	\$154.00	\$15,400.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Tons	\$160.00	\$16,000.00	\$126.77	\$12,677.00	\$128.00	\$12,800.00	\$144.00	\$14,400.00	\$145.00	\$14,500.00	\$186.73	\$18,673.00	\$125.00	\$12,500.00	\$154.00	\$15,400.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	4,080 Tons	\$128.50	\$524,280.00	\$115.83	\$472,586.40	\$120.00	\$489,600.00	\$129.00	\$526,320.00	\$123.50	\$503,880.00	\$276.53	\$1,128,242.40	\$108.00	\$440,640.00	\$130.00	\$530,400.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	7,953 Tons	\$192.50	\$1,530,952.50	\$136.54	\$1,085,902.62	\$162.00	\$1,288,386.00	\$231.00	\$1,837,143.00	\$170.00	\$1,352,010.00	\$175.98	\$1,399,568.94	\$150.00	\$1,192,950.00	\$155.00	\$1,232,715.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	4,338 Tons	\$125.50	\$544,419.00	\$126.59	\$549,147.42	\$127.00	\$550,926.00	\$126.00	\$546,588.00	\$143.00	\$620,334.00	\$161.61	\$701,064.18	\$120.00	\$520,560.00	\$100.00	\$433,800.00
7	Manhole Adjustment	600 Mile	\$1,075.00	\$645,000.00	\$1,004.25	\$602,550.00	\$800.00	\$480,000.00	\$1,080.00	\$648,000.00	\$1,375.00	\$825,000.00	\$1,250.00	\$750,000.00	\$1,160.00	\$696,000.00	\$100.00	\$60,000.00
8	Water Valve Adjustment	25 Each	\$1,020.00	\$25,500.00	\$695.25	\$17,381.25	\$800.00	\$20,000.00	\$1,020.00	\$25,500.00	\$1,100.00	\$27,500.00	\$1,000.00	\$25,000.00	\$1,030.00	\$25,750.00	\$100.00	\$2,500.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$2.75	\$1,375.00	\$15.00	\$7,500.00	\$10.00	\$5,000.00	\$8.40	\$4,200.00	\$10.00	\$5,000.00	\$7.50	\$3,750.00	\$5.50	\$2,750.00	\$8.00	\$4,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	231,360 Sq.yds.	\$2.60	\$601,536.00	\$2.95	\$682,512.00	\$2.15	\$497,424.00	\$3.10	\$717,216.00	\$2.50	\$578,400.00	\$3.45	\$798,192.00	\$4.93	\$1,140,604.80	\$0.01	\$2,313.60
11	Asphaltic Rubber Crack Fill	29 Miles	\$9,075.00	\$263,175.00	\$8,300.00	\$240,700.00	\$10,000.00	\$290,000.00	\$9,110.00	\$264,190.00	\$8,750.00	\$253,750.00	\$10,000.00	\$290,000.00	\$8,250.00	\$239,250.00	\$8,500.00	\$246,500.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Materials and Tack Coat	3,840 Tons	\$131.50	\$504,960.00	\$131.64	\$505,497.60	\$135.00	\$518,400.00	\$135.00	\$518,400.00	\$144.00	\$552,960.00	\$157.07	\$603,148.80	\$130.00	\$499,200.00	\$125.00	\$480,000.00
13	Full Depth Reclamaton (FDR)	5,000 Sq.yds.	\$3.50	\$17,500.00	\$7.15	\$35,750.00	\$5.00	\$25,000.00	\$10.50	\$52,500.00	\$9.00	\$45,000.00	\$5.97	\$29,850.00	\$18.08	\$90,400.00	\$5.00	\$25,000.00
14	Soil-Cement Base	125 Tons	\$265.00	\$33,125.00	\$202.35	\$25,293.75	\$250.00	\$31,250.00	\$231.00	\$28,875.00	\$275.00	\$34,375.00	\$302.25	\$37,781.25	\$322.91	\$40,363.75	\$240.00	\$30,000.00
TOTAL			\$7,651,072.50		\$7,173,879.04		\$7,305,486.00		\$8,051,232.00		\$7,826,709.00		\$9,432,263.57		\$7,793,468.55		\$6,774,028.60	

km

BID TABULATION

Page 5 of 6

BL139-25
Resurfacing of Residential County Roads on a Term Contract
Department of Transportation

District 5			Allied Paving Contractors, Inc. (OC)		Blount Construction Company, Inc. (L)		East Coast Grading, Inc. (L)		E.R. Snell Contractor, Inc. (L)		Magnum Paving (OC)		MHB Paving, Inc. (OC)		Pittman Construction Company (OC)		Summit Construction & Development, LLC (L)		The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asph. Conc.- including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	24,900 Tons	\$125.50	\$3,124,950.00	\$124.96	\$3,111,504.00	\$130.50	\$3,249,450.00	\$127.00	\$3,162,300.00	\$125.25	\$3,118,725.00	\$153.07	\$3,811,443.00	\$137.35	\$3,420,015.00	\$120.00	\$2,988,000.00	\$152.50	\$3,797,250.00
2	9.5mm Recycled Asph. Conc.- including Bituminous Material, Lime and Tack Coat (SP Type I, BL 1)	100 Tons	\$158.50	\$15,850.00	\$124.27	\$12,427.00	\$129.00	\$12,900.00	\$127.00	\$12,700.00	\$140.00	\$14,000.00	\$194.95	\$19,495.00	\$137.35	\$13,735.00	\$125.00	\$12,500.00	\$153.00	\$15,300.00
3	4.75mm Recycled Asph. Conc.-including Bituminous Material and Tack Coat	100 Tons	\$165.00	\$16,500.00	\$129.23	\$12,923.00	\$133.00	\$13,300.00	\$145.00	\$14,500.00	\$145.00	\$14,500.00	\$194.95	\$19,495.00	\$158.15	\$15,815.00	\$125.00	\$12,500.00	\$153.00	\$15,300.00
4	19mm Recycled Asph. Conc.-including Bituminous Material and Tack Coat	4,233 Tons	\$138.50	\$586,270.50	\$115.97	\$490,901.01	\$121.00	\$512,193.00	\$148.00	\$626,484.00	\$124.75	\$528,066.75	\$278.24	\$1,177,789.92	\$127.70	\$540,554.10	\$105.00	\$444,465.00	\$130.00	\$550,290.00
5	12.5mm Recycled Asph. Conc. Patching - including Bituminous Material and Tack Coat	8,250 Tons	\$200.00	\$1,650,000.00	\$142.22	\$1,173,315.00	\$165.00	\$1,361,250.00	\$305.00	\$2,516,250.00	\$165.00	\$1,361,250.00	\$178.91	\$1,476,007.50	\$292.95	\$2,416,837.50	\$155.00	\$1,278,750.00	\$152.00	\$1,254,000.00
6	Recycled Asph. Conc. Leveling-including Bituminous Material, Lime and Tack Coat	6,250 Tons	\$131.50	\$821,875.00	\$126.48	\$790,500.00	\$129.00	\$806,250.00	\$131.00	\$818,750.00	\$150.00	\$937,500.00	\$155.80	\$973,750.00	\$131.55	\$822,187.50	\$120.00	\$750,000.00	\$100.00	\$625,000.00
7	Manhole Adjustment	300 Mile	\$1,075.00	\$322,500.00	\$999.38	\$299,814.00	\$800.00	\$240,000.00	\$1,145.00	\$343,500.00	\$1,375.00	\$412,500.00	\$1,250.00	\$375,000.00	\$1,051.00	\$315,300.00	\$1,200.00	\$360,000.00	\$100.00	\$30,000.00
8	Water Valve Adjustment	32 Each	\$1,020.00	\$32,640.00	\$691.88	\$22,140.16	\$800.00	\$25,600.00	\$1,090.00	\$34,880.00	\$1,100.00	\$35,200.00	\$1,000.00	\$32,000.00	\$888.00	\$28,416.00	\$1,080.00	\$34,560.00	\$100.00	\$3,200.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$2.75	\$1,375.00	\$15.00	\$7,500.00	\$10.00	\$5,000.00	\$8.80	\$4,400.00	\$10.00	\$5,000.00	\$7.50	\$3,750.00	\$3.00	\$1,500.00	\$5.00	\$2,500.00	\$8.00	\$4,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	240,000 Sq.yds.	\$2.75	\$660,000.00	\$3.09	\$741,600.00	\$2.15	\$516,000.00	\$3.10	\$744,000.00	\$2.50	\$600,000.00	\$3.33	\$799,200.00	\$2.80	\$672,000.00	\$5.00	\$1,200,000.00	\$0.01	\$2,400.00
11	Asphaltic Rubber Crack Fill	30 Miles	\$8,690.00	\$260,700.00	\$8,507.50	\$255,225.00	\$10,000.00	\$300,000.00	\$9,275.00	\$278,250.00	\$8,250.00	\$247,500.00	\$10,000.00	\$300,000.00	\$8,135.00	\$244,050.00	\$7,900.00	\$237,000.00	\$8,500.00	\$255,000.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Materials and Tack Coat	3,984 Tons	\$145.00	\$577,680.00	\$128.59	\$512,302.56	\$141.00	\$561,744.00	\$150.00	\$597,600.00	\$145.00	\$577,680.00	\$146.42	\$583,337.28	\$150.15	\$598,197.60	\$130.00	\$517,920.00	\$128.00	\$509,952.00
13	Full Depth Reclamaton (FDR)	5,000 Sq.yds.	\$3.50	\$17,500.00	\$7.12	\$35,600.00	\$5.00	\$25,000.00	\$11.00	\$55,000.00	\$9.00	\$45,000.00	\$5.97	\$29,850.00	\$18.30	\$91,500.00	\$18.00	\$90,000.00	\$5.00	\$25,000.00
14	Soil-Cement Base	125 Tons	\$265.00	\$33,125.00	\$204.51	\$25,563.75	\$250.00	\$31,250.00	\$244.00	\$30,500.00	\$275.00	\$34,375.00	\$302.25	\$37,781.25	\$230.00	\$28,750.00	\$320.00	\$40,000.00	\$240.00	\$30,000.00
TOTAL			\$8,120,965.50		\$7,491,315.48		\$7,659,937.00		\$9,239,114.00		\$7,931,296.75		\$9,638,898.95		\$9,208,857.70		\$7,968,195.00		\$7,116,692.00	

km

BID TABULATION

Page 6 of 6

BL139-25
 Resurfacing of Residential County Roads on a Term Contract
 Department of Transportation

District 6			Allied Paving Contractors, Inc. (OC)		Blount Construction Company, Inc. (L)		East Coast Grading, Inc. (L)		E.R. Snell Contractor, Inc. (L)		Magnum Paving (OC)		MHB Paving, Inc. (OC)		Summit Construction & Development, LLC (L)		The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asph. Conc.- including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	17,650 Tons	\$128.50	\$2,268,025.00	\$130.67	\$2,306,325.50	\$130.50	\$2,303,325.00	\$127.00	\$2,241,550.00	\$126.00	\$2,223,900.00	\$153.37	\$2,706,980.50	\$124.00	\$2,188,600.00	\$141.50	\$2,497,475.00
2	9.5mm Recycled Asph. Conc.- including Bituminous Material, Lime and Tack Coat (SP Type I, BL 1)	100 Tons	\$160.00	\$16,000.00	\$130.84	\$13,084.00	\$129.00	\$12,900.00	\$127.00	\$12,700.00	\$140.00	\$14,000.00	\$194.95	\$19,495.00	\$125.00	\$12,500.00	\$144.00	\$14,400.00
3	4.75mm Recycled Asph. Conc.-including Bituminous Material and Tack Coat	100 Tons	\$165.00	\$16,500.00	\$131.01	\$13,101.00	\$133.00	\$13,300.00	\$145.00	\$14,500.00	\$145.00	\$14,500.00	\$194.95	\$19,495.00	\$125.00	\$12,500.00	\$144.00	\$14,400.00
4	19mm Recycled Asph. Conc.-including Bituminous Material and Tack Coat	3,001 Tons	\$137.00	\$411,137.00	\$119.28	\$357,959.28	\$121.00	\$363,121.00	\$149.50	\$448,649.50	\$122.00	\$366,122.00	\$279.54	\$838,899.54	\$108.00	\$324,108.00	\$125.00	\$375,125.00
5	12.5mm Recycled Asph. Conc. Patching - including Bituminous Material and Tack Coat	5,858 Tons	\$202.00	\$1,183,316.00	\$145.01	\$849,468.58	\$165.00	\$966,570.00	\$305.50	\$1,789,619.00	\$170.00	\$995,860.00	\$195.16	\$1,143,247.28	\$155.00	\$907,990.00	\$150.00	\$878,700.00
6	Recycled Asph. Conc. Leveling-including Bituminous Material, Lime and Tack Coat	3,195 Tons	\$130.00	\$415,350.00	\$131.12	\$418,928.40	\$129.00	\$412,155.00	\$131.00	\$418,545.00	\$150.00	\$479,250.00	\$163.39	\$522,031.05	\$120.00	\$383,400.00	\$100.00	\$319,500.00
7	Manhole Adjustment	420 Mile	\$1,075.00	\$451,500.00	\$1,004.25	\$421,785.00	\$800.00	\$336,000.00	\$1,145.00	\$480,900.00	\$1,375.00	\$577,500.00	\$1,250.00	\$525,000.00	\$1,150.00	\$483,000.00	\$100.00	\$42,000.00
8	Water Valve Adjustment	32 Each	\$1,020.00	\$32,640.00	\$695.25	\$22,248.00	\$800.00	\$25,600.00	\$1,090.00	\$34,880.00	\$1,100.00	\$35,200.00	\$1,000.00	\$32,000.00	\$850.00	\$27,200.00	\$100.00	\$3,200.00
9	Asphalt Underlying Fabric	500 Sq.yds.	\$2.75	\$1,375.00	\$15.00	\$7,500.00	\$10.00	\$5,000.00	\$8.80	\$4,400.00	\$10.00	\$5,000.00	\$7.50	\$3,750.00	\$5.00	\$2,500.00	\$8.00	\$4,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	172,175 Sq.yds.	\$2.85	\$490,698.75	\$3.41	\$587,116.75	\$2.15	\$370,176.25	\$3.15	\$542,351.25	\$2.50	\$430,437.50	\$2.61	\$449,376.75	\$5.22	\$898,753.50	\$1.00	\$172,175.00
11	Asphaltic Rubber Crack Fill	21 Miles	\$8,745.00	\$183,645.00	\$8,466.00	\$177,786.00	\$10,000.00	\$210,000.00	\$9,330.00	\$195,930.00	\$8,300.00	\$174,300.00	\$10,000.00	\$210,000.00	\$7,900.00	\$165,900.00	\$8,500.00	\$178,500.00
12	12.5mm OPEN GRADED INTERLAYER including Bituminous Materials and Tack Coat	2,824 Tons	\$145.00	\$409,480.00	\$131.44	\$371,186.56	\$141.00	\$398,184.00	\$150.00	\$423,600.00	\$150.00	\$423,600.00	\$177.96	\$502,559.04	\$130.00	\$367,120.00	\$125.00	\$353,000.00
13	Full Depth Reclamaton (FDR)	5,000 Sq.yds.	\$3.50	\$17,500.00	\$7.46	\$37,300.00	\$5.00	\$25,000.00	\$11.00	\$55,000.00	\$9.00	\$45,000.00	\$5.97	\$29,850.00	\$18.00	\$90,000.00	\$5.00	\$25,000.00
14	Soil-Cement Base	125 Tons	\$265.00	\$33,125.00	\$204.51	\$25,563.75	\$250.00	\$31,250.00	\$240.00	\$30,000.00	\$275.00	\$34,375.00	\$302.25	\$37,781.25	\$320.00	\$40,000.00	\$240.00	\$30,000.00
TOTAL			\$5,930,291.75		\$5,609,352.82		\$5,472,581.25		\$6,692,624.75		\$5,819,044.50		\$7,040,465.41		\$5,903,571.50		\$4,907,475.00	

Recommended Vendor:

The Scruggs Company dba Sunbelt Asphalt Surfaces, Inc.

Attn: Jason Mulkey

1410 Sunbelt Way

Auburn, GA 30011

Phone: 770-867-5312

JMulkey@SunbeltAsphalt.com